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I-1 100kN/ Mm% 2 % -l -~ - —[3mZEEZS[ - ~ - - —| 100kN/ Mm% 2% - = ke - —[3mZEEZD = i - - -
Zhn s 1.0010.00 ~ 6.58 82.93| #n st [0.00 ~ 658 1.79 9.40 Zh s 1.00] 500 ~ 7.89 8293| #nLi4 | 500 ~ 7.89| 1.79 9.40
[ o | 100KN/MZ#BA S -l -~ - -|3mzBAL| - ~ - - —| 100kN/mM%EEZ % - = Kt - —|3mZEBZ S = It - - -
Zhn s 1.00/0.00 ~ 6.36 79.94] #h st 1000 ~ 6.36] 1.85 9.68 Zh s 1.00] 500 ~ 7.62 79.94] #h st | 500 ~ 7.62| 1.85 9.68
-3 100kN/ MEHB A % -l -~ - -|3mzBRL| - ~ - - —| 100kN/mM%EEZ % - = Kt - —|3mZEBZ S = It - - -
Zhn s 1.001 000 ~ 7.18 91.29] #h L4t 1000 ~ 7.18] 1.93 10.14 Zhn s 1.00] 500 ~ 10.51 91.29] #1 4t | 500 ~ 1051 1.93 10.14
[ g | 100KN/MZEHBAS -l -~ - -|3mzBRL| - ~ - - —| 100kN/mM%EEZ % - = Kt - —|3mZEBZ S = It - - -
Zhn s 1.001 000 ~ 7.23 92.07| #h 4t 1000 ~ 7.23] 1.95 10.21 Zh s 1.00] 500 ~ 1048 92.07| #1 4t | 500 ~ 1048| 1.95 10.21
-5 100kN/ MEHB A 5 -l -~ - -|3mzBRL| - ~ - - —| 100kN/mM%EEZ % - = Kt - —|3mZEBZ S = It - - -
Zhn s 1.0010.00 ~ 7.36 93.84| Z1 L4t 1000 ~ 7.36| 1.94 10.16 Zh s 1.00] 500 ~ 11.01 93.84| ZnLis | 500 ~ 11.01| 1.94 10.16
-6 100kN/m#%#BZ % 1.00{0.00 ~ 0.94 114.15|3m%B 25 ol ~ - - —| 100kN/m%#B 2% 1.00| 1269 ~ 17.88 114.15|3m%EB 25 = ke = - -
s 1.001094 ~ 8.73 100.00|] Zhi4t 1000 ~ 873 2.10 11.00 ZhLs 1.00] 500 ~ 1269 100.00f £ ist | 500 ~ 17.88] 2.10 11.00
-7 100kN/m#Z#BZ % 1.00{0.00 ~ 1.14 117.12|3m%EB 25 ol ~ - = —| 100kN/mM%#B 2% 1.00| 1262 ~ 19.28 117.12|3m%EB 25  ~ - - -
ZhnLs 1.00]1.14 ~ 8.92 100.00|] Zh1i4t 1000 ~ 8.92| 2.10 11.02 ZhLst 1.00] 500 ~ 1262 100.00f £ ist | 5.00 ~ 19.28) 2.10 11.02
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s ~ zh st ~ ZhLs ~ s ~
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ZhnLs ~ zh st ~ ZhLs ~ s ~
100kN/mM#Z#EZ % ~ ImEHEAD ~ 100kN/m%Z#B% % ~ ImEBZS ~
ZhnLs ~ zh st ~ zhLst ~ s ~
100kN/mM#Z#EZ % ~ ImEHEADS ~ 100kN/m%Z#B% % ~ ImEBZS ~
ZH LS ~ ZThLlst ~ FNLS ~ T IO0)) ~
100kN/mM%Z#E% % ~ ImEHEAD ~ 100kN/m%Z#BZ % ~ ImEBZS ~
ZHLUS ~ ZThLlst ~ FHLS ~ T IO0)) ~
100kN/mM%Z#E% % ~ ImEHEAD ~ 100kN/m%Z#B% % ~ ImEBZS ~
ZHLUS ~ ZThLlst ~ FHLS ~ T IO0)) ~
100kN/mM%Z#E% % ~ ImEHEAD ~ 100kN/m%Z#B% % ~ ImERZS ~
ZHLS ~ ZThLlst ~ FHLS ~ T IO0)) ~
100kN/mM%Z#E% % ~ ImEHEAD ~ 100kN/m%Z#B% % ~ ImERZS ~
Zzh st ~ Zh s ~ ZhUS ~ st ~
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I-1 100kN/mMZ#BZ % 1.00/ 0.00 ~ 0.39 105.82|3m%#Bx 5| - ~ = = -| 100kN/MZ#B 2% 1.00| 10.92 ~ 12.00 105.82|3m%E#EZ% -~ = = =
zhs 1.00/0.39 ~ 8.18 100.00] #xList | 000 ~ 8.18] 2.33 12.23 Zh st 1.00] 500 ~ 10.92 100.00( Z# L4t | 500 ~ 12.00| 2.33 12.23
[ —o| 100KN/nZEBA% -l -~ - -|3mEBRL| - ~ - - —| 100kN/m#%#EZ % - = e - -|3mZEBZD = - - -
zh s 1.00/ 0.00 ~ 7.02 89.06] #hList | 000 ~ 7.02] 1.93 10.13 Zh st 1.00] 500 ~ 10.06 89.06] #hils | 500 ~ 10.06| 1.93 10.13
I-3 100kN/mMZ#BZ % 1.00/ 0.00 ~ 055 108.20|3m%#Bz5| - ~ = = -| 100kN/MZ#B 2% 1.00| 12.67 ~ 15.29 108.20|3m%#x% -~ = = =
zh s 1.00] 055 ~ 8.34 100.00] ZxList | 000 ~ 8.34| 2.10 11.00 Zh st 1.00] 500 ~ 12.67 100.00( Z# L4t | 500 ~ 15.29| 2.10 11.00
[ -a| 100KN/MZEEBAS -l -~ - -|3mEBRL| - ~ - - —| 100kN/m#%#EZ % - = e - -|3mZEHBZD = - - -
zhs 1.00/ 000 ~ 522 65.14] #hList | 000 ~ 522| 168 8.81 Zh st 1.00] 500 ~ 566 65.14| #hils | 500 ~ 566| 1.68 8.81
I-5 100kN/mMZ#BZ % 1.00/ 0.00 ~ 1.90 129.25(3m%#Bz5| - ~ = = -| 100kN/MZ#B 2% 1.00| 1053 ~ 17.48 129.25|3m%#B 2z % -~ = = =
Zh s 1.00/ 1.90 ~ 968 100.00] #xList | 000 ~ 968| 2.38 12.47 Zh st 1.00] 500 ~ 1053 100.00( Z# it | 500 ~ 17.48| 238 12.47
I-6 100kN/mMZ#BZ % 1.00/ 0.00 ~ 248 138.78|3m%#Bx5| - ~ = = -| 100kN/MZ#B 2% 1.00| 1059 ~ 22.15 138.78|3m%#x% -~ = = =
zhs 1.00| 2.48 ~ 10.26 100.00] #+xList | 000 ~ 10.26| 2.64 13.87 ZnLlst 1.00] 500 ~ 1059 100.00( Zhlist | 500 ~ 22.15| 264 13.87
I-7 100kN/mMZ#BZ % 1.00/ 000 ~ 3.16 150.493m#%#8x5(0.00 ~ 0.03| 3.01 15.81| 100kN/m%# 2% 1.00| 10.76 ~ 39.22 150.49|3m%#E% 5| 30.00 ~ 39.22| 3.01 15.81
Zh s 1.00| 3.16 ~ 10.95 100.00] #+xList | 003 ~ 10.95| 3.00 15.73 ZnLlst 1.00] 500 ~ 10.76 100.00( #4#Li% [ 5.00 ~ 30.00| 3.00 15.73
I-8 100kN/mMZ#BZ % 1.00/ 000 ~ 285 145.12|3mZE#ZB| - ~ = = —| 100kN/M#Z# 2% 1.00[ 10.92 ~ 32.99 145.12|3m%E#BZ% o~ = = =
Zhst 1.00| 2.85 ~ 10.64 100.00| Z4Li% | 0.00 ~ 10.64| 297 15.60 ZnLlst 1.00] 500 ~ 10.92 100.00( Z#Li4t | 500 ~ 32.99| 297 15.60
I-9 100kN/mMZ#8Z % 1.00/0.00 ~ 3.18 150.74|3m%#8x5[ 000 ~ 0.24| 3.13 16.39| 100kN/m%# 2z % 1.00| 10.54 ~ 30.00 150.74|3m%#B% 5| 25.00 ~ 30.00| 3.13 16.39
Zh s 1.00| 3.18 ~ 10.96 100.00] #xList | 0.24 ~ 10.96| 3.00 15.73 ZnLlst 1.00] 500 ~ 1054 100.00( ##Li4t | 5.00 ~ 2500/ 3.00 15.73
I-1 100kN/mMZ#BZ % 1.00/ 0.00 ~ 283 144.69|3m%EEZB| - ~ = = —| 100kN/MZ# 2% 1.00| 10.54 ~ 2492 144.69|3m%E#B x5 o~ = = =
zhs 1.00| 2.83 ~ 10.61 100.00] #+xList | 000 ~ 10.61| 2.68 14.06 ZnLlst 1.00] 500 ~ 1054 100.00( Z#list | 500 ~ 2492| 268 14.06
100kN/M%Z#B % % ~ ImEHEZD ~ 100kN/mM%Z#8Z % ~ ImEEZD ~
zh st ~ zh st ~ Zh st ~ Zh st ~
100kN/M%Z#B % % ~ 3ImEHEZD ~ 100kN/m%Z#8Z % ~ ImEEZD ~
Zh st ~ zh st ~ Zh st ~ Zh st ~
100kN/M%Z#B% % ~ 3ImEHEZD ~ 100kN/m%Z#8Z % ~ ImEEZDB ~
Zh st ~ zh st ~ Zh st ~ Zh st ~
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